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QUESTION 1

Identify the object in which Saved query cannot be used.
A. Finders (Search pages)

B. Automation Agents

C. Business Monitors

D. Reports

Correct Answer: B

QUESTION 2

When a new Service Provider is created, OTM automatically does which of the following?

A. OTM assigns the default Calendar defined in the Parameter Set.

B. OTM associates the Service Provider calendar with the calendar of the CORPORATION ID identified during setup.
C. OTM sends an email or fax to the Service Provider contact, depending on the contact\\'s preferred contact method.
D. OTM creates a corresponding LOCATION, with the location Role of "CARRIER".

Correct Answer: A

QUESTION 3

Which rate component defines how transportation time will be calculated for the Rate?
A. Rate Service

B. Rate Distance

C. Rate Record

D. Rate Lane

E. Rate Offering

Correct Answer: B

QUESTION 4
Which are the two ways in which Milestones differ from Agents? (Choose two.)

A. Milestones may be made up of one or more Agents.
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B. Milestones monitor for a condition to occur, whereas Agents only start and stop based on a time-based schedule.

C. Milestones may be both "reactive" (for example, they monitor for a condition to occur) and "proactive" (for example,
they can initiate before, at, or a prescribed number of times after a condition occurs).

D. Agents monitor for a condition to occur, whereas Monitors only start and stop based on a time-based schedule.
E. Agents may be made up of one or more Milestones.

Correct Answer: AC

QUESTION 5

Which three statements are true when setting up Match Rules for Freight Payment in OTM? (Choose three.)

A. You need to specify at least one shipment reference number qualifier to match to.

B. The match rule will apply to all invoices, unless only certain service providers are specified on the match rule.
C. The matching rule could be different for different service providers.

D. You could specify several shipment reference values to match to.

E. BM or Bill Of Lading is a mandatory shipment reference number qualifier to match to.

Correct Answer: ACE
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